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Typical	setup	

Weitkamp,	chap	1	



Mono-	vs	Bi-axial	systems	

Kovalev,	“Elastic	Lidar”,	chap.	3	
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Din	
Dout	

X	=	3	
Dout = x ⋅Din = 3⋅1mm = 3mm

αout =
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Overlap		
func=on	

Weitkamp,	chap	1	



Received	light	
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Op=cal	layout	-	Detec=on	
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Op=cal	layout	–		
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Signals	overlap	and	give	
large	measurable	voltage	

Pulses	too	far	way	

Quasi-
continuum,	
good	for	A/D	 Discrete	pulses	

need	to	be	counted	



Efficiency	<	30%	
Hamamatsu,	TECH	2001	

Efficiency	is	not	uniform	over	Anode	
	Simeonov	et	al,	Ap.	Opt.	1999	


